


  ′

양변을 으로 나누면

×


  

 ′

 



×


    ′

위 식에   을 대입하면

 ′  

  

∴ ㄱ (참)

   ′×  
양변을 부정적분하면

×  


 (단, 는 적분상수이다.)

 


 ×

∴  ′  
 ′  
∴ ㄴ (거짓)

×  


,  



 








함수 는 실수 전체의 집합에서 도함수가 연속이므로 

  이어야 한다.

∴   


 

 



∴ ㄷ (참)

∴ ㄱ, ㄷ


